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DIPLOMA IN SECURITY MANAGEMENT 
(DSM) 

Term-End Examination 

December, 2012 

BSEI-011 : MANAGERIAL SKILLS 

Time : 3 hours 	 Maximum Marks : 100 

Note : 
	Question-1 is compulsory. Question-2 Attempt 

any seven out of ten. Question-3 Attempt any three 
out of five. 

PART - A 

1. 	Fill in the blanks : 	 12x1=12 

(a) Purchase is normally carried out by 

purchaser or 	 department. 

(b) Loading of scrap must be properly 

supervised at the time of 	 

(c) Welfare includes 	 and safety 

programme. 

(d) 	  is choice made from 

alternatives. 

(e) Situation theory advocates the leadership is 

effected by its given 	 

(f) Literally the term 'leadership' means to 

BSEI-011 	 1 	 P.T.O. 



(g) A right 	 should be selected for 

the right job. 

(h) 	 customer is the customer who 

wants more than you can offer. 

(i) First aid is 	  care given 

immediately to an injured person. 

(j) sometimes 	called 

"hypothermia", is a normal hazard of 

temperate wilderness. 

(k) 	  is the freezing of body tissue. 

	

(1)   is a step by step process that 

eventually leads to the applicant's 

acceptance of a job offer. 
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PART - B 

Tick True (✓) or False (X) on the following : 12x1=12 

(a) Trait theory is based on certain situations, 
	

( ) 

which the leader needs to address. 

(b) Photography by an employee/visitor should ( ) 

be prohibited, can be carried out during 

working hours only. 

(c) Positive motivation is essentially the kind of ( ) 

motivation which would come from within. 

(d) Motivation is an art of getting the work ( ) 

done by the people and thereby achieving 

the best results. 

(e) Creativity is ability to generate ideas that ( ) 

are both innovative, and workable. 

(f) Every employee whether permanent or ( ) 
temporary must be issued with an 

identification document. 

(g) Leadership may be formal or informal. 	( ) 

(h) The most important person in any business ( ) 

is the Factory Manager. 

(i) CPR stands for Cardio Pulse Respiration. 	( ) 

(j) Passive customers are the customers who ( ) 

listen to you. 

(k) Routine decisions are repetitive in nature, ( ) 
require little deliberations and are generally ( ) 
concerned with short term. 

(1) Only the permanent employees must be ( ) 

issued with an identification document. 
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PART - C 

Choose the correct answer : 	 4x1=4 

(a) An adult breaths about 	 times 
per minute. 

(i) 20 - 22 (ii) 20 - 24 

(iii) 15 - 20 (iv) 15 - 24 

(b) Normal body temperature is : 

(i) 98.3°F 	(ii) 98.6°F 

(iii) 98.9°F 	(iv) 98.0°F 

(c) The air which we inhale is a mixture of gases 

with oxygen accounting for 21% and 
nitrogen 	  

(i) 76% 	 (ii) 77% 

(iii) 72% 	 (iv) 79 % 

(d) Normal blood pressure is about : 

(i) 120/80 
	

(ii) 160/40 

(iii) 160/80 
	

(iv) 120/40 

2. 	Attempt any seven : 	 7x6=42 

(a) Write a short note on external (outward) 
movement of material. 

(b) Write a short note on Top Secret Documents. 

(c) Make a specimen of Identity Card. 

(d) Write a short note on the interview. 

(e) Write a short note on risky shift. What is 
the full form of GDM ? 
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(f) Write a short note on non-programmed 

decisions. 

(g) What are industrial disputes ? Write briefly. 

(h) Write the tips for creating good impression 

on the customer. 

(i) Write a short note on insect and animal bites. 

(j) What do you understand by the Primary 

Survey ? Explain briefly. 

3. 	Attempt any three questions : 	 10x3=30 

(a) What is Letter Bomb ? Explain the meaning 

of explosive and parcel. 

(b) What is Gregor's theory of 'X' and 'Y' ? 

What is the applicability of theory 'Y' in 

India ? 

(c) What are the advantages and disadvantages 

of GDM ? Enumerate. 

(d) What are the duties of security officer ? 

Write any ten points on his duty. 

(e) What is a standing order ? Write any ten 

points for standing orders. 
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'f.-cl-Ti.1.3T0-011 

Frrizi :3 

Taff V4ET9' 4 r5 	<1iii 

flAid trffarr 

f4TriziT, 2012 

*.1.3TI-011 : vqtarff a.ia-r 
37faTw-i4 afT : loo 

7: Ws/ /. 3Ifff-471 t./ Wet 2- 10  4' 4 	7 VY7 ch ./ 
M 9 1 3. titW.  # 4 chii 77-3-  w-i ca 1 

1.1.7T - 

1. 	VIT-61.  WM' 1.1t : 	 12x1=12 
(a) 3111=ItT ITT -{P-1--q#, 	17r 	fqiirrr 

gkr 4 .ficil t 1 

(b) TiTizi Tt-chtelle. (4cf) 4;1 
c-i.irs41 -1 -81-T. -sr-*-R -4 TRFaAri fwzrr ,Hir -cill t, I 

(c) 	a21r vir 4)1491,44 dc,4,4( -4 71-rr-Tro 
-1c-tr t 1 

(d) atifq--A A 	 --r .-9-rq -r-*-i-r ,iicil t 1 
(e) ft-77F 24-# t afTR -k-1 (c-l1st1l1) t q 

	A -5 	ildi t 1 
(f) ' -4T - ' ( -1--.T7-rITT) -TT -1W 1:1 74 3-14 

	 t1 

(g) Tit Tz tl 1,*) Tit 	TT1---ira fwzrr 
AI-II ft--411 
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(h) 31-Ff -gru 	Fold 

apt 	3TfT 	 

(i) 	ci 	t ,31) 

&ir--aTr     t 

(j) 	 ,m1 	"tr- t2R-frrzrr" 

AlcIf t I \3-I) 	t-114-11-4 trft-r1:1-d 011c,V-1 t I 

(k) 71-tt{ 	t1Pia-)1311 

'r-1'i1(fm-f--A.Tr) 

(1) 	-crw 9h 4-10105, -9-fwzrr t 	T2.11 

ch'r w -c-t ifaa .WT-4 a-1 	a-,13F-Iffrff 	 
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VITT - Tff 

	(✓) TIT (X) geirt -T 	wiT4 : 	
12x1=12 

(a) ?s.d unt f9f-Tqff R-11-\L-1 'TT 31-m-rfta-  t fqw*--1- 	( ) 

	 c) ciftql-1 	c 3-Tr-a-v-zwo-r t- 

(b) 1cb 	 gRi -Chta. 	4-111 t I f 	) 

	

3Tqfq 1( fwzfr 	tI  

(c) Pica i)-7-1-r 31-r-4v-qT 	err 	-) 	t ( ) 

31-Fr4 31-Flt 

(d) .147111T -017ff -4 ch14-1 . 7d14 4 c=11 err t 	( ) 

gRi 	 vrt7( 	t 

(e) 0-11qcbc-11 	r facer -1 chl 	--T4at1 71-T-zra-r t 	( ) 

	

chig -w-T4 -z0zi 	maci-11 	q t 

(f) ch 4-cl I t-)-  -c11 aT-2Trzft 	3-7-21-Fft 	 ) 

\31 'IIt1 f*-711.  \311-1E 1111 

(g) s•R 347-4IFTW TIT 3Ta-Atrq-rr-TwtTrT-di ( ) 

(h) f oicm1414T1-43,4 ( ) 

~r 6lnit I  

(i) it 3T2f 	 47i Li 	 ) 

chl -1141 rn1 41(-1  	fwzro t- 

(j) 33wciz 	 61a t \it) 3Trct 	 ( ) 

01 	I d  	t- 

(k) f--9-qzff 	it 	alt mllt t--6-{1-4 Ala 	 ) 

t i f 	facet 	ml 3TI-Tq-zr*--d-r 

air 31TIT4-{ 	c114-1 3-Tqfq 	fff-4 	t 

(-1.-1 	m-ft 	ch4-ca *1-  \3a fwqr ( ) 

\AN] 
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I.TPT - Tr 

'C-R .WE TdTq c : 	 4x1=4 

(a) (0.1 clqt-c( (.1414111 ';rf-ff 

tilts 	 t I 

(i) 	20 - 22 	(ii) 	20 - 24 

(iii) 15 - 20 	(iv) 15 - 24 

(b) 7Tft{   c114411-1 	 t? 
(i) 98.3°F 
	

(ii) 98.6°F 

(iii) 98.9°F 
	

(iv) 98.0°F 

(c) - ‘1 T41 X41 	gRi 	t 	t74 chi fR3TuT 

t-  I f7:1-4 	 21% .9-11 

	  31tVid 61c-11 ti 

(i) 76% 	 (ii) 77% 

(iii) 72% 	 (iv) 79% 

(d) 7Ti 	 0411-171 	  

(i) 120/80 	(ii) 160/40 

(iii) 160/80 	(iv) 120/40 

2. 	W)I kflrf 749i I 	 7x6=42 

(a) 1.-67 ,T114 	-114-11-1/TITTIt 'TT 	 41#17r fa-ccruff 

ct;  	I 

(b) 3-1-f1 tt,ci 	iff-d71:1-{ 4Ri171faliFt fffd I 

(c) t-) -1:171 -9-14 I 
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(d) TITUTTT 'TT lm 4 	f -171 faunt -rot I 
(e) ftrcE 	4NTR'r fatcrit -F-ff4 ,11.1. 4-1. 

(GDM) chi f4-97 7qT1 --d-T4 I 

(f) (331Tzr—A7) *T1-01 
41kriTr fa-arcril. -F74 

(g) Affrrw 	tErr t *-4-cr fo74 ? 

(h) -97 3-1-1 	 -ffft fffd I 

(i) 7r9---at t tra-4 'TT TtFuTr 	f, 
f-o-d 

(j) 4R-i-Ri 7711--Fzi rch -511Tft`irT F-1t1utir 74 am cl-qf 

3. 	ta3-3.77.91 drIt -f -4 
	

10x3=30 
(a) rizt 	qz11.  t? ci-4-11)dch .2-1.1 74-0.  

T11:70 I 

(b) 4 4 Ch'i 'X' 	'Y' 2 c1-1 t? 9TT-(7 	274t 

	

`Y' rn131-1-f-d-dT 	t? 

(c) (GDM) 	 

(d) ttqf 3-TrWt cmi c aTt -a9-4 
(10) cril fo-d? 

(e) 3TT 	*41 t? 	(10) -q-ral 
f -74 
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